(=

1% 3 B
A 5 =4
K % |max| & 8 | # 8 #xxs|TO08P) 4 luma| e w | w o=
(AN) (FM) (FM) (FM) (FM) (FM) (FM) (FM)
" E % 3 26,316 9,343 35,659 6,982 42,641
% 8 14 57,655 18,869 76,524 19,754 96,278
i %‘Dﬂﬁmé? 1246 47,470 47,470 47,470
= & 1,263 105,125 26,316 28,212 0 159,653 26,736 186,389
" E % 3 26,316 9,343 35,659 6,925 42,584
% 8 14 58,056 18,869 76,925 22,002 98,927
i %‘Dﬂﬁmé? 925 47516 47516 47516
= &t 942 105,572 26,316 28,212 0 160,100 28,927 189,027
&k % 0 0 0 0 0 0 57 57
K # B 0 A 401 0 0 0 A 401 A 2,248 A 2,649
- %a)%&mé) 321 A 26 0 0 0 A 26 0 A 26
&t 321 A 447 0 0 0 A 447 A 2,191 A 2,638
X TOMOFHIITREFLEESELL,
2 — K& B
(1) #& &
# 5 B
X5 B A % | & B w8 BETFH it * & B & &t & %
(N (FM) (FM) (FM) (FM) (FM) (FM)
x F E (ziaz) 999,203 720,393 1,719,596 326,908 2,046,504
Bl FOE (235; 1,031,460 894,514 1,925,974 334,360 2,260,334
S (AA13) o A32257 A174121] A 206,378 A 7452 A 213830

(B ()RR BERAERMHBRETHY. NEETHS

N KEF LY HROVFY(HENOBETL B H F Y |FHYBTFY|EEBR T Y (vemamnsra KBHHEF Y
(FM) (FM) (FM) (FM) (FM) (FM) (FM) (FM)
r FE 32,544 399,201 55,632 20,569 9,607 14,405 1,242 15,851
BEFIO| a1 & E 32,350 408,810 41,360 22,029 10,159 15,184 642 13,025
% 194 A 9,609 14,272 A 1,460 A 552 A 779 600 2,826
S 4 EEFL | EEF L | REDBTFL 8 F & |MEIREEFY | SHHBFL | ESREFY
(FM) (FM) (FM) (FM) (FM) (FM) (FM)
X F E 18,123 136,975 3,389 2,200 9,956 699 0
0] E3 18,938 315,015 4,272 2,133 9,944 653 0
kb & A 815 A 178,040 A 883 67 12 46 0
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() B ERUVBEFLOEEEDHE

¥ OE % b b5 E S i Al M E -
PAN E H
= 7 (FM) (FM) & A
W HE mEICHES B E S
L ARDI & B R B IS HESHE WS 17,137 RHE 172%
z 0O o oo # OEH » A 49,394| B BB O EEN (IRA - BB - RETH O EE) F(CLDiR
W OE % E IS ®EE S
; B : A 174,121 s 2 1 b ) 7 B (4 - B . DT -
BAFS 2 o oo B OE % A 174121 ragiggg%%@*m R 2HEORE) SIck R
B)H/HEUVEBEFLORR
(7) BE— ALS-YDRSE
X 7 7T R B | E & B |[BESBEB
TR RAREMA) 289,324 499,100 344,208
ERSIEIA1RBRE 5 A% 327,844 1,116,876 353,446
SE)E S 4108 497598 55518
TR AREMA) 292,895 494,700 343714
ERLI0ET1A1RBE 5 A% 332,306 1,118,084 353,558
SE)E S 4158 48598 55518
(CORIR:- =i = = =
. — R 3 [»)
XA | TEEE | BREE) | seemme K 5 [GEBE|ERBED [mersne
B R E 148,600 RS 148,600
X = = 180,700 247,900 133,200 x = = 180,700 247,900
(7)) & 3 B B &
X 4 17 [ 7 = & 57 53 BE E7) 7% i
& BEHN)[#ERLE (%) & BEH(N)[#ERLE (%) & BEHN)[#ERLE (%)
1 & 36( ) 13.5( ) 1 & () () 1 & 1(2) 4.2(100.0)
2 % 44( ) 16.5( ) 2 % 1) 50.0( ) 2 % 23( ) 958( )
3 # 99( ) 37.0( ) 3 #&k () ()
TER31FE1A1H 4 & 64( ) 24.0( ) 4 & 1) 50.0( )
5 #& a ) 15( )
H & 6 #& 20( ) 75( )
it 267( ) 100.0( ) &t 2( ) 100.0( ) it 24( 2)| 100.0(100.0)
1 & 29( ) 11.3( ) 1 & () () 1 #& 1) 34( )
2 % 46( ) 17.9C ) 2 % 1) 50.0( ) 2 % 28( ) 96.6( )
3 # 90( ) 350( ) 3 #&k () ()
TR30FE1A1H 4 & 66( ) 25.7( ) 4 & 1) 50.0( )
5 #& 6( ) 23( )
H & 6 #& 20( ) 78( )
B 257( )| 100.0( ) &t 20 )] 1000( ) &t 20( )] 1000 )
CH (AL ERMHBBETHY. NEETHD
I 1| D HRZE 75 RAE
X 7 11k 2 & 3 % 4 iR 5 & 6k
EEBE | EBEBE 7 K |ER#&| & E =z kK
1T g 7 % kK
EfiBE BEMiBE x F & Bl & = | Bl & F
4 8% = X #a i Bl a2 B £ D ERRS . B
ro A Al e & AR il _E D N::2:10]
= a2 6R(AR) | 12A(EZ) | ORERAD)| g=icrrmEnE
%N F E 2. 225(1.175)2. 225(1.175] 4. 45 (2.35) &l
il F E3 2. 125(1.075)2. 325(1.275] 4. 45 (2.35) &l
E o # E 2. 225(1.175)2. 225(1.175] 4. 45 (2.35) izl
GH ( RNIZ. BEREBAICRLIXKEIETHD
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(h) FEFEBBERUERERICHRIEBT
. N 0FEEGEDE | 25FEGEDE | BFELHHENE| RERELE z O o
(A5) (A5) (A5) A5 m H # & %
= EERTRELEBSMIEE
X W® E 0% 24.586875 33.27075 47.709 47.709 (2% ~ 20%)
BE o # E EERTRELEBSMIEE
(% @ om o= 24586875 33.27075 47.709 47.709 (B TEDLNDE)
) BB Y BF N — 7
. : A ;
= 2 ERE R m B RECER
BEHBRECRTIHE (%) 0.36 0.19 16.55 0.0
X@HRWE DL E (%) 13.65 14.23 100.0 0.0
(ER31E1 A1 BRTAE) ’ ’ ’ ’
REROGERDBEFLOEH |EREBRUESFL. HEEBREFE
(7) #b i F &
o R & 7 K B E_Ef
X # OE (%) 6 16
(FR31E1RA1BIRTE)
X BN R B B ¥ 1 >
(FER31E1R1BIRTE)
r) £ @ D F N
X 7 B o #H EEDER
BEEF Y & L
EFBEF L & C
B F A & C
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